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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 000 ~ 715 90.92 | #nS | 000 ~ 0.00| 1.64 828 st 1.00 | 6.00 ~ 9.560 90.92 | =hS | 5.00 ~ 9.50 | 1.64 8.28
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 728 9275 | #nS | 000 ~ 7.28| 1.82 921 st 1.00 | 6.00 ~ 9.40 92.75 | #nLS | 5.00 ~ 9.40| 1.82 921
3 100kN/m%E#8z5 | 1.00 | 000 ~ 065 10968 |3mx#8z3| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 11.09 ~ 1330 109.68 |3mE{BZ% - ~ — — —
s 1.00 | 0.65 ~ 844 100.00 | =nst | 0.00 ~ 844 | 2.04 10.50 st 1.00 | 6.00 ~ 1109 100.00 | =nst | 6.00 ~ 1330 2.04 10.50
4 100kN/mM##BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S -~ — — —
s 1.00 | 0.00 ~ 467 5820 | =nLs | 0.00 ~ 000 1.62 818 st 1.00 | 6.00 ~ 5.00 5820 | =nLS | 5,00 ~ 6.00| 1.62 818
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zhLst ~ FhLst ~ FhLst ~ st ~
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